BiRE

ANLBERUVUENHREMREF

* %k ¥ L B I % %k % * % %k ¥ % ¥ E 3 3 % %k % % ok % % %k %k
* %k * % * %k * % * %k * %k % %k * k * sk
AMERTOER., FREGYELEZOTHREWELET,
£ X B |Fek 254 128 126 | # & 8 |¥®X % B H
EEXEARKA #AE 2§ :
#“® £ THECIMES R EN BB HREETE
2 H E B o #% H |EE 255 128 128
2 0 E & 23S 2 H H x |BERFAL
ZHEKERE | F5OC VS EBE
CAIE AR
T 5E i % @A) 5, 330, 850 (A#LEL:B:{E#&5, 077, 000FT )
BEESEMEE EL
Fofoleddk
WA E T | ek
okl
B T 8 M ZHBADEA Mo HBEM
B 1T & M BT ARE=THS~9EMERIENIER
HH BB ERE254E1ZA 48 A ¥ H Rk 254 128 12H
* i | 0100 HESETE 2 # # E & Rk
* B OE # BT E40% L. hRAEIHE205L0N. BRESETH—FEHL WL
A A ( R | » & 8§
¥ T % 1M E2Mm #3ME ]
490-0
T o &3@
iR
503-0
2| ) &Fim
R
57130
3| MHEHHRIX B
B
2488-0
4] 4 ==mm
B
584-0
5| wmen oh
338
%k % %k ok

B EE
4438




IEHE

<TmEC1345# > (FHEIREE)

CIRERL=602m. BTREREW=50m (EEREW=10.0m)
AEITRTA=360m, REHMILL=71m

<H#RTE |l -585#R> (HEMER)
IFERL=155m, BLREREW=62m (BEIREEW=6.7Tm)
HEATRT A=9m. KEHIL =32 Im

<mEC205#> (HEMER)
ITHRERL=13.5m,. BLEEW=40m (EHEIREREW=S8 0m)
SRITMT A=503m, XBE#HRITL=221m

<EREC10358 > (TERER)
IHRERL=50.3m, HEIIREW=5 0~9.0m (GERIEEW=6.0m)
SERITMT A=264m. KEHRIL=128 9m

ERBRPFALETOIGRICEITSIERL-HEH

TRELROEREZZERLUETE




